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History - AQA GCE Mark Scheme 2012 June series

Generic Introduction for A2

The A2 History specification is based on the assessment objectives laid down in QCA’'s GCE
History subject criteria and published in the AQA specification booklet. These cover the skills,
knowledge and understanding which are expected of A Level students. Most questions address
more than one objective since a good historian must be able to combine a range of skills and
knowledge. Consequently, the marking scheme which follows is a ‘levels of response’ scheme
and assesses students’ historical skills in the context of their knowledge and understanding of
History.

The levels of response are a graduated recognition of how students have demonstrated their
abilities in the Assessment Objectives. Students who predominantly address AO1(a) by writing
narrative or description will perform at Level 1 or low Level 2 if some comment is included.
Students who provide more explanation — (AO1(b), supported by the relevant selection of
material, AO1(a)) — will perform at Level 2 or low Level 3 depending on their synoptic
understanding and linkage of ideas. Students who provide explanation with evaluation,
judgement and an awareness of historical interpretations will be addressing all 3 AOs (AO1(a);
AO1(b): AO2(b)) and will have access to the higher mark ranges.

To obtain an award of Level 3 or higher, students will need to address the synoptic
requirements of A Level. The open-ended essay questions set are, by nature, synoptic and
encourage a range of argument. Differentiation between performance at Levels 3, 4, and 5
therefore depends on how a student’s knowledge and understanding are combined and used to
support an argument and the how that argument is communicated.

The mark scheme emphasises features which measure the extent to which a student has begun
to ‘think like a historian’ and show higher order skills. As indicated in the level criteria, students
will show their historical understanding by:

The way the requirements of the question are interpreted

The quality of the arguments and the range/depth/type of material used in support
The presentation of the answer (including the level of communication skills)

The awareness and use of differing historical interpretations

The degree of independent judgement and conceptual understanding shown

It is expected that A2 students will perform to the highest level possible for them and the
requirements for Level 5, which demands the highest level of expertise have therefore been
made deliberately challenging in order to identify the most able students.
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General Guidance for Examiners (to accompany Level Descriptors)

Deciding on alevel and the award of marks within a level

It is of vital importance that examiners familiarise themselves with the generic mark scheme and
apply it consistently, as directed by the Principal Examiner, in order to facilitate comparability
across options.

The indicative mark scheme for each paper is designed to illustrate some of the material that
students might refer to (knowledge) and some of the approaches and ideas they might develop
(skills). It is not, however, prescriptive and should only be used to exemplify the generic mark
scheme.

When applying the generic mark scheme, examiners will constantly need to exercise judgement
to decide which level fits an answer best. Few essays will display all the characteristics of a
level, so deciding the most appropriate will always be the first task.

Each level has a range of marks and for an essay which has a strong correlation with the level
descriptors the middle mark should be given. However, when an answer has some of the
characteristics of the level above or below, or seems stronger or weaker on comparison with
many other students’ responses to the same question, the mark will need to be adjusted up or
down.

When deciding on the mark within a level, the following criteria should be considered in relation
to the level descriptors. Students should never be doubly penalised. If a student with poor
communication skills has been placed in Level 2, he or she should not be moved to the bottom
of the level on the basis of the poor quality of written communication. On the other hand, a
student with similarly poor skills, whose work otherwise matched the criteria for Level 4 should
be adjusted downwards within the level.

Criteria for deciding marks within a level:

Depth and precision in the use of factual information

Depth and originality in the development of an argument

The extent of the synoptic links

The quality of written communication (grammar, spelling, punctuation and legibility; an
appropriate form and style of writing; clear and coherent organisation of ideas, including
the use of specialist vocabulary)

e The way the answer is brought together in the conclusion
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June 2012

A2 Unit 3: The State and the People: Change and Continuity

HIS3A: The Angevin Kings of England: British Monarchy, 1154-1216

Question 1
01 How successful was King Henry Il in restoring royal authority in England by 1166?
(45 marks)
Target: AO1(a), AO1(b), AO2(b)
Generic Mark Scheme for essays at A2
Nothing written worthy of credit. 0

L1:

L2:

L3:

L4:

L5:

Answers will display a limited understanding of the demands of the question. They may
either contain some descriptive material which is only loosely linked to the focus of the
question or they may address only a part of the question. Alternatively, they may
contain some explicit comment but will make few, if any, synoptic links and will have
limited accurate and relevant historical support. There will be little, if any, awareness of
differing historical interpretations. The response will be limited in development and skills
of written communication will be weak. 1-6

Answers will show some understanding of the demands of the question. They will either
be primarily descriptive with few explicit links to the question or they may contain explicit
comment but show limited relevant factual support. They will display limited
understanding of differing historical interpretations. Historical debate may be described
rather than used to illustrate an argument and any synoptic links will be undeveloped.
Answers will be coherent but weakly expressed and/or poorly structured. 7-15

Answers will show an understanding of the demands of the question. They will provide
some assessment, backed by relevant and appropriately selected evidence, which may,
however, lack depth. There will be some synoptic links made between the ideas,
arguments and information included although these may not be highly developed. There
will be some understanding of varying historical interpretations. Answers will be clearly
expressed and show reasonable organisation in the presentation of material. 16-25

Answers will show a good understanding of the demands of the question. They will be
mostly analytical in approach and will show some ability to link ideas/arguments and
information and offer some judgement. Answers will show an understanding of different
ways of interpreting material and may refer to historical debate. Answers will be well-
organised and display good skills of written communication. 26-37

Answers will show a very good understanding of the demands of the question. The
ideas, arguments and information included will be wide-ranging, carefully chosen and
closely interwoven to produce a sustained and convincing answer with a high level of
synopticity. Conceptual depth, independent judgement and a mature historical
understanding, informed by a well-developed understanding of historical interpretations
and debate, will be displayed. Answers will be well-structured and fluently written. 38-45
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Indicative content

Note: This content is not prescriptive and students are not obliged to refer to the material
contained in this mark scheme. Any legitimate answer will be assessed on its merits
according to the generic levels scheme.

Students will need to assess/identify and evaluate/explain the condition of royal authority in
England in 1154 after the disorder of King Stephen’'s reign and balance this against King
Henry’s various policies to restore his rights and authority.

Students may refer to some of the following material in support of royal success:

e Henry’'s attempts to restore royal authority over the English Church, his attempt to
restore the ancient laws and customs, the Constitutions of Clarendon
the reconstruction of royal government

e reforms and innovations in law and administration.

Nevertheless, there are a number of other factors to consider:

e Henry’s attempts to curb baronial independence
¢ the restoration of royal finance
e Henry’s attempt to limit the power of sheriffs.

Furthermore, students may:

e analyse the growing authority of offices of state
¢ analyse baronial independence and rebellion
e evaluate the restoration of royal demesne and feudal rights in the Cartae Baronum.

In conclusion, students may:

e evaluate short-term actions in the 1150s such as expelling mercenaries and demolishing
adulterine castles

e evaluate the impact on royal authority of the Angevin Empire and Henry’'s absence from
England.
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Question 2

02 ‘The Angevin Empire was lost because of family divisions.’
Assess the validity of this view with reference to the years 1173 to 1216. (45 marks)

Target: AO1(a), AO1(b), AO2(b)
Generic Mark Scheme for essays at A2
Nothing written worthy of credit. 0

L1: Answers will display a limited understanding of the demands of the question. They may
either contain some descriptive material which is only loosely linked to the focus of the
guestion or they may address only a part of the question. Alternatively, they may
contain some explicit comment but will make few, if any, synoptic links and will have
limited accurate and relevant historical support. There will be little, if any, awareness of
differing historical interpretations. The response will be limited in development and skills
of written communication will be weak. 1-6

L2: Answers will show some understanding of the demands of the question. They will either
be primarily descriptive with few explicit links to the question or they may contain explicit
comment but show limited relevant factual support. They will display limited
understanding of differing historical interpretations. Historical debate may be described
rather than used to illustrate an argument and any synoptic links will be undeveloped.
Answers will be coherent but weakly expressed and/or poorly structured. 7-15

L3: Answers will show an understanding of the demands of the question. They will provide
some assessment, backed by relevant and appropriately selected evidence, which may,
however, lack depth. There will be some synoptic links made between the ideas,
arguments and information included although these may not be highly developed. There
will be some understanding of varying historical interpretations. Answers will be clearly
expressed and show reasonable organisation in the presentation of material. 16-25

L4: Answers will show a good understanding of the demands of the question. They will be
mostly analytical in approach and will show some ability to link ideas/arguments and
information and offer some judgement. Answers will show an understanding of different
ways of interpreting material and may refer to historical debate. Answers will be well-
organised and display good skills of written communication. 26-37

L5: Answers will show a very good understanding of the demands of the question. The
ideas, arguments and information included will be wide-ranging, carefully chosen and
closely interwoven to produce a sustained and convincing answer with a high level of
synopticity. Conceptual depth, independent judgement and a mature historical
understanding, informed by a well-developed understanding of historical interpretations
and debate, will be displayed. Answers will be well-structured and fluently written. 38-45
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Indicative content

Note: This content is not prescriptive and students are not obliged to refer to the material
contained in this mark scheme. Any legitimate answer will be assessed on its merits
according to the generic levels scheme.

Students will need to assess/identify and evaluate/explain familial disunity as the key reason for
the collapse of the Angevin Empire and balance this against other factors.

Students may refer to some of the following material in support of familial disunity:

the impact of the rebellion of 11734

Richard’s revolt in 1189, the treaty of Azay and the loss of the Auvergne

John’s rebellion in 1193 and the loss of Gisors

the impact of the disputed succession between Arthur and John and Arthur’'s murder.

Nevertheless, there are a number of other factors to consider:

the ability and feudal authority of King Philip 1
the financial impact of Richard’s reign

John’s lack of military ability

the attitude of the Norman barons.

Furthermore, students may:

¢ evaluate the impact of the treaty of Le Goulet 1200
¢ analyse the consequences of the Angouleme marriage
¢ focus on the loss of Normandy and the military campaign of 1203—4.

In conclusion, students may:

e range across the full period to the military defeat of John’s allies at Bouvines in 1214
stress John’s resources as an issue

¢ highlight the long-term structural weakness of the Empire, or the importance of personal
kingship.
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Question 3

03 How successful were King John’s relations with the English Church and the Papacy?

(45 marks)
Target: AO1(a), AO1(b), AO2(b)
Generic Mark Scheme for essays at A2
Nothing written worthy of credit. 0

L1: Answers will display a limited understanding of the demands of the question. They may
either contain some descriptive material which is only loosely linked to the focus of the
guestion or they may address only a part of the question. Alternatively, they may
contain some explicit comment but will make few, if any, synoptic links and will have
limited accurate and relevant historical support. There will be little, if any, awareness of
differing historical interpretations. The response will be limited in development and skills
of written communication will be weak. 1-6

L2: Answers will show some understanding of the demands of the question. They will either
be primarily descriptive with few explicit links to the question or they may contain explicit
comment but show limited relevant factual support. They will display limited
understanding of differing historical interpretations. Historical debate may be described
rather than used to illustrate an argument and any synoptic links will be undeveloped.
Answers will be coherent but weakly expressed and/or poorly structured. 7-15

L3: Answers will show an understanding of the demands of the question. They will provide
some assessment, backed by relevant and appropriately selected evidence, which may,
however, lack depth. There will be some synoptic links made between the ideas,
arguments and information included although these may not be highly developed. There
will be some understanding of varying historical interpretations. Answers will be clearly
expressed and show reasonable organisation in the presentation of material. 16-25

L4: Answers will show a good understanding of the demands of the question. They will be
mostly analytical in approach and will show some ability to link ideas/arguments and
information and offer some judgement. Answers will show an understanding of different
ways of interpreting material and may refer to historical debate. Answers will be well-
organised and display good skills of written communication. 26-37

L5:  Answers will show a very good understanding of the demands of the question. The
ideas, arguments and information included will be wide-ranging, carefully chosen and
closely interwoven to produce a sustained and convincing answer with a high level of
synopticity. Conceptual depth, independent judgement and a mature historical
understanding, informed by a well-developed understanding of historical interpretations
and debate, will be displayed. Answers will be well-structured and fluently written. 38-45
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Indicative content

Note: This content is not prescriptive and students are not obliged to refer to the material
contained in this mark scheme. Any legitimate answer will be assessed on its merits
according to the generic levels scheme.

Students will need to assess/identify and evaluate/explain the successes in King John’s
relations with the English Church and the Papacy and balance this against his losses.

Students may refer to some of the following material in support of King John’s success:

¢ the imposition and questionable impact of the interdict

e after 1209 John enjoyed huge revenues from confiscated ecclesiastical property

e the eventual compromise in 1213, England as a papal fief-humiliation or astute political
move?
King John’s continued control over elections
the role of the Papacy as a support to John during the baronial revolt, Magna Carta.

Nevertheless, there are a number of other factors to consider:

John'’s failure over the Canterbury election

papal intervention and the election of Stephen Langton

England under the interdict and John’s excommunication

papal suzerainty over England

the role of Stephen Langton as either co-ordinator of baronial demands or moderator
and mediator after 1213.

Furthermore, students may:
e stress the wider context of increasing papal influence over the English Church
¢ show the links between John’s dispute with the papacy and wider political conflicts with
the barons and King Philip II.
In conclusion, students may:
e analyse the long-term position, John’'s legacy as a papal vassal, Papal power and
influence in England under King Henry 11|
e show conceptual awareness on the nature of the relationship and the limits on Papal
influence in England.
Converting marks into UMS marks

Convert raw marks into marks on the Uniform Mark Scale (UMS) by using the link below.

UMS conversion calculator: www.aqga.org.uk/umsconversion
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